Collége Claparéde Exercices de Mathématique
3°"¢ Niv. 2 Correctif Dérivées - Série n°2

O rar application directe des régles...
a) f'(x)=26x"—42x° = 2x° - (3x7 - 21)
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i) f'(x)=2sin(15x)-cos(15x)-15 = 30sin(15x)-cos(l5x)=15sin(30x)
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9 Idem...

a) f'(x)=5-e"7+5x-e”7-2=5-(1+2x) ™"
b)  f'(x)=-3sin(x) In(x —1)+ cos(3x)-L1
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o) f'(x)=2x- cose(2 ) e+ sin(x2 ) et =2. (x : cos(x2 )+ sin(x2 )) e’
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0) f'(x)=2cos(2x) cos(5x)+ 5sin(2x)- (= sin(5x))= 2 cos(2x)- cos(5x)— 5sin(2x)- sin(5x)

(o) 2x-cos(xz): X'Cose‘z)
p) f() 2-\/sin(xz) \/sin(xz)

f'(x):—sin(i]-(—xlz]_ 1 tan( % j
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